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Tree diagram of the trading process.

@ is the probability of an information evern, 8 is the probability of a low signal, u is the probability
that the trade comes from an informed wrader, 1/2 is the probability that an uninformed trader is
a seller, and ¢ is the probability that the uninformed trader will actually trade. Nodes to the left

of the dotted line occur only at the beginning of the trading day; nodes to the right are possible
at each trading interval:



The probability of a buy, sell, or no-trade at any time during this day
can be read off the good event branch of the tree in Figure 1. The
probability of B buys, S sells, and N no-trades on a good event day is
thus proportional to’

Pr{B, S, N|yr = H} = [+ (1 — pu)1/2¢]°[(1 — p)1/2eP[(1 — ) (1 — &)},

(10)
Similarly, on a bad event day the probability of (B,S,N) is proportional
to

Pr{B,S,N|y = L} = [(1 — u)1/2ePlu + (1 - 1)1/2ePl(1 — w)(1 — &),
(11)

Finally, on a day in which no event has occurred the probability of
(B, S, N) is proportional to

Pr{B, S, N|¥ = 0} = [1/2e]B*5(1 — &)V, (12)




Pr(B, S, Nla, 8, i, £} = a(l — 8)[( + (1 — p)1/2(e)P
11— w)1/2()P - [(1 — w)(1 = &)IN]
+adll(1 — p)1/2()1° - (i + (1 — p)1/2(e)P
1 = w1 =l
+(1 — )[[1/2(e)1**%(1 — &)M). (13)





